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Question 1 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim) 2 pts

For each question, four options are given. One of them is the correct answer, make
your choice below. (28 x 2 marks)

Study the animals in groups A and B below,

Which of the following Is cormect? A tick (V) shows the presence of the characteristic(s)

of the animals,
A)
a Has body Has body
roup covering of covering of fir Has wings
feathers
A y |
B) A v .|
©) B ) i
o B v

Question 2 of 64

Primary 6 Science (Prelim) 2 pts

Which of the following statements about fungi are true?

A Yeast is a type of fungi.

B Fungi reproduce by spores.
C Fungi are not made of cells.
D Fungi do not have chloroplasts.

A) A and B only
B) CandD only
C) A,BadDonly
D) B, CandD only
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Question 3 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

Observations made on animals P and Q are recorded in the table below.

2 pts

Characteristic Has 3-staged life | Layeggs on | Young resembles
cycle land adult
Animal
P + W y
Q o

Which of the following represents animals P and Q correctly?

A) | Animal P |Animal Q
butterfly [mosquito

B) |Animal P |Animal Q
butterfly |[frog

C) |Animal P |Animal Q
cockroach |frog

D) |Animal P |Animal Q
cockroach | mosquito
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Question 4 of 64

Primary 6 Science (Prelim)

Bethany investigated the condiions needed for the germination of green beans.

She prepared three sel-ups, A, B and C, each containing same amount of cotton wool

and the same number of green beans as shown below.

green beans

L —— colion wool

The table below shows the conditions each set-up was exposed to.

Conditions
Cotton wool Temparature Presence of
Set up (*C) light
A damp 30 yas
B dry 30 VES
c damp 1] no

Bethany recorded the obzervalions on the grean beans after five days.

Which of the following cbservations comectly matches the reason?

A)

B)

C)

D)

Observation

Reason

germinated.

Green beans in set-up A

were present.

Air, water and warmth needed for germination

Observation

Reason

germinated.

Green beans in set-up A

were present.

Air, water and warmth needed for germination

Observation

Reason

Green beans in set-up B did not germinate.

No light was present.

Observation

Reason

Green beans in set-up C did not germinate.

No warmth and light were present.
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Question 5 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim) 2 pts

The diagrams below show the reproductive systems of a plant and buman.

Plant reproductive systam

Human reproductive system

Which of the following represent the parts involved In producing the male reproductive
celks?

A) AandC
B) AandD
C) BandC
D) BandD

Question 6 of 64 Primary 6 Science (Prelim) 2 pts

The diagram below shows how a fruit is developed from a flower.

flower —»| Process X |—»| Process Y |— fruit

Which of the following correctly identifies processes X and Y?

A) |Process X Process Y
seed dispersal |fertilisation

B) |Process X |Process Y
fertilisation | seed dispersal

C) |Process X |Process Y
fertilisation | pollination

D) |Process X |Process Y
pollination |fertilisation

https://www.classmarker.com/a/tests/test/print/?test_id=1830200




11/1/121, 7:41 AM ClassMarker - Professional online testing

Question 7 of 64 Primary 6 Science (Prelim) 2 pts

The diagrams below show two flowers, G and H, from the same type of plant.

Which is / are the arrow(s) that represent(s) the process pollination?

A) C
B) D
C) Band Conly
D) AandE only
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Question 8 of 64 Primary 6 Science (Prelim) 2 pts
Sarah wanted to find out if overcrowding affects plant growth. The table below shows

four different set-ups, P, Q, R and 5, each containing the same amount of soil. She
walered each set-up with the same amount of water daily.

Conditions
Set-ups Size of pot and Location | Temperature (*C)
number of seeds
saed X
P classroom 25
pot
seads X
Q — pot
garden 35
|
seeds X
R
pot pardan 25
5 X
5
pol garden 35
]

Which set-ups, P, @, R and S, should Sarah use to ensure a fair test?

A) P andRonly
B) P andSonly
C) Qand Sonly
D) QandR only

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 9 of 64 Primary 6 Science (Prelim) 2 pts

The chan below shows the amount of food digested In varicus parts of the human
digastive sy=tam six hours after a meal.

[ 3

Amount of food
digested

w X '
Parts of the digestive systam

Based on the graph above, which one of the following best represants W, X, ¥ and 2
raspectivaly?

A) |w X Y Z

stomach [large intestine | small intestine | mouth

B) |w X Y Z

stomach [ mouth [small intestine |large intestine

C) |w X Y Z

mouth | small intestine |large intestine [ stomach

D) |w X Y ya

small intestine | large intestine | mouth | stomach

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 10 of 64 Primary 6 Science (Prelim) 2 pts
MNoris prepared set-ups A, B and C using the same type of plant. She removed some
roots from the plants in set-ups B and C and removed some leaves from the plant in
set-up C as shown in the diagrams below. She observed the volume of water left in

each set-up over a period of one week.

ENLERY
Fian

l1-||[||||

e = o e wr

PR SR TR

Which of the following graphs best represents the results oblained for the three sel-
ups, A, B and C?

Y Volume of water left (ml)
F

Set-up A
Set-up B
Set-up C

e e —

—
Time {days)

B)

9/75
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Volume of water left (ml)

A
Set-up A
Set-up C
Set-up B

i
Time (days)

” Volume of water left (ml)

__ SetupC
Set-up A
Set-up B

.

Time {(days)

D)
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Volume of water left (ml)

A
é
| __Set-upC
Set-up B
Set-up A
3 g
Time {days)
Question 11 of 64 Primary 6 Science (Prelim) 2 pts

Which one of the following parts is found in a root cell but not in a cheek cell?

A) cell wall
B) cytoplasm
C) chloroplast

D) cell membrane
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Question 12 of 64 Primary 6 Science (Prelim) 2 pts

Denise prapared set-ups A, B, C and D as shown balow,

P walar. Ikack
R L opaqua
- paper
ighied water
torch plant
Set-up B
Wik
- B
S
lighted water
torch snail
Set-up C Set-up D
Sha measured the concentration of carbon dioxide in the water In each test-tube bafore
the experiment and two hours [ater,
In which test-tuba would there be a decraase in the concentration of carbon dioxide
after two hours?
A) Set-up A
B) Set-upB
C) Set-upC
D) Set-up D
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Question 13 of 64 Primary 6 Science (Prelim) 2 pts

Gabi wanted to consiruct a flying model as shown in tha diagram below.

support o keep
medel upright

|

connection o
water hose

She wanted to conduct a test launch where the flying model would fly o a helght of
one metra when filled with waler and that it would not be damaged when it landed on
the ground.

Which of the following properties must she consider while selecting the materials 1o
buwild her lying model?

A) Strength and waterproof
B) Strength and conductor of heat
C) Conductor of heat and flexibility

D) Conductor of electricity and waterproof
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Question 14 of 64 Primary 6 Science (Prelim) 2 pts

A saaled contalner holds 700 cm? of oil and 300 cm? of air as shown balow. Anather
200 em? of oil is removed and 100 cm? of air is added to the container through the
prmip.

sealed container

300 cm? of air

700 cm? of ol

What is the final volurme of air in the container?

A) 300 cm?®
B) 400 cm?®
C) 500cm?®
D) 600 cm?®
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Question 15 of 64 Primary 6 Science (Prelim) 2 pts

Tim had a bag of identical marbles. He wanted fo find the volume of each marble.
He filled a measuring cylinder with water as shown in dizgram below.

marbles

Based on Tim's experiment, which of the following is comect?

A Marbles ococupy space,
B Waler has no definite valume.
C The volume of each marble is 5 cm®.

A) Aonly

B) Bonly

C) AandConly
D) A BandC
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Question 16 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

2 pts

The table below shows the freezing point and boiling point of three substances, X, Y

and Z.
Substance Freezing point (°C) Boiling point (°C)
X B 80
3 | 17 118
£ 43 181

Which of the substances, X, ¥ or Z, isfare liquid(s) at 20°C?

A) Xonly
B) Yonly
C) YandZonly
D) Xand Zonly

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 17 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim) 2 pts

Dora wanted to investigate the alectrical conductivity of mde A, B, C and D. She
constructed the circuit as shown below.

o —R—

She recorded her observation below when she removed certain rods and closed the

switch,
Rod(s) removed from the circuit Bulb lighted up
D Ves
Band C_ 1 yes
B,.Cand D no
A B D no

Based on her cbservation, which of the following conclusions about the rods A, B, C
and D is comect?

A) |Electrical conductor(s) [ Electrical insulator(s)
A C B,D

B) |Electrical conductor(s) [ Electrical insulator(s)
B,C,D A

C) |Electrical conductor(s) | Electrical insulator(s)
A B,C,D

D) |Electrical conductor(s) [ Electrical insulator(s)
B,D A, C
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Question 18 of 64

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

The circuit below consists of identical bultbs, B1, B2, B3 and B4, all lit up.

B ®B3

R

B4

2 pts

Which of the following is likely to be observed when only one of the bulbs in the above
circuit is fused at one tima?

A)

B)

C)

D)

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B1 or B4

0

3

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B1 or B3

1

2

Bulb that was
fused

Smallest number of bulbs
remaining lit

Largest number of bulbs
remaining lit

B2 or B3

2

3

Bulb that was
fused

Smallest number of bulbs
reamaining lit

Largest number of bulbs
remaining lit

B2 or B4

0

3
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Question 19 of 64 Primary 6 Science (Prelim) 2 pts

A steel bar XY was magnatised using the "stroke” method as shown in Diagram 1 below.
Diagram 2 shows the magnetic poles of XY after it was magnetised.

Diagram 1 Diagram 2

Another steel bar below was magnetised using two magnets as shown In
Diagram 3.
magnets

N

Diagram 3

Ideniify the poles at A and B used to magnetise the stesl bar respectively.

A) Poles at A |Poles at B
N S

B) Poles at A |Poles at B
S N

C) Poles at A |Poles at B
N N

D) Poles at A |Poles at B
S S
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Question 20 of 64 Primary 6 Science (Prelim)

Ali, Beth, Cailing, and Devi prepared the following set-ups using identical boxas A and
B as shown below.

box A

ramp=—

box B

The boxes were placed at the same starting point on the ramps. They observed that
box B would shde down the ramp bul box A remained stationary.

The pupils made the following statements:

Fal

Beth

The gravitational force acting on box B was more than
that of box A.

Cailing

The surface of the ramp whens box A was placed onwas
smoather,

The Irictional force between box B and the surface of the
ramp was less than that of box A and the suface of the

ramp.

Which of the pupils made the comect slatements?

A) Aliand Cailing

B) Aliand Devi

C) Beth and Cailing
D) Beth and Devi

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 21 of 64 Primary 6 Science (Prelim) 2 pts

Which of the following arrows shows the direction of frictional force acting on a ladder which
is leaning against the wall?

A)
wall ladder
floor
B)
]
wall ladder
floor
C)

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 21175
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wall ladder

floor

D)

wall ladder

floor
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Question 22 of 64

Stella carried out an experiment to find out which rubber ball, P, Q or R, travelied the
furthast distance when it was rolled down the same ramp as shown below. The rubber

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

balls were identical in size but of different masses.

ball

distance travelled by ball

ramp ‘-

For each ball, she repeated the experiment three times. She recorded the distanca
travelled by each ball in the table below. However, she did not carry out a fair lest when
conducting the experiment with ball R.

Distance travelled by balls [cm)
1= try 20 try 3rd try Average
P | 141 143 146 143.3
Q 183 184 180 182.3
R a0 125 680 142.5

Based on the rasulls of the above experiment, which of the following statements
izlare most likely to be true?

A
B

-

The amount of gravitational force acting on ball © was the least.
The way she released ball R was not the same for all the three tries.

Ball R was released at different positions on the ramp at each repeated
experiment.

A) Aonly

B) Bonly

C) BandConly
D) A, BandC
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Question 23 of 64 Primary 6 Science (Prelim) 2 pts

A light sensor is used to count the number of woodan blocks on a moving balt in a
factory as shown in the set-up balow.

%_‘ kght sensor connected to a cournter
moving belt .

| %—* % 8
S S SN

The belt moves at a constant speed. The workers plotied tha resulls in the graph shown
balow.

woodan block

Baszed on the graph above, how many wooden blocks were counted In five seconds?

A)
B)
C)
D)

a b O DN

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 24/75



11/1/121, 7:41 AM ClassMarker - Professional online testing

Question 24 of 64 Primary 6 Science (Prelim) 2 pts

The diagram below shows a lamp post. The distance from A to B is idantical to the
distance from B to C. David walked under the lighted lamp post from B to C, then C to
A passing B again, He increased his speed while walking from B to A.

-

— [amp post

A B C

Which one of the diagrams below shows the changes in the length of the boy's

shadow over the period of time?
A)
Length of
shadow (cm)
A

B)

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 2575
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Length of
shadow (cm)

A

S ' >
L Time (s)

C)
Length of
shadow (cm}
¥ 3
P
Time (s)
D)

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Length of
shadow {cm)
&
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Question 25 of 64 Primary 6 Science (Prelim) 2 pts
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Ermma cared oul an experiment with the byvo set-ups X and Y as shown below,
She used ldentical containers and burmears for the twoe sal-ups.

In sat-up X, she placed a blob of wax on a surface which was placed S5cm above the
base of the containar.

In set-up ¥, she placed the same amount of wax on an identical surface. The surface
was raised &% cm above the basea of the containar as shown below.

hwrnfajr{ .

She recorded her obsensabton in te table balow,

Layer of air between wax and | Time taken for wax to malt {s)
base of container {cm)

a 20

15 BS

Based on the results of the experiment, Emma attempted o prepare friod ice craam.
It Is a dessert where coated ice cream is guickly deep fried lo creale a golden and
enspy shell around the still cold ice cream.,

She prepared the flour dough using a mixture of water, baking scda and flour. She
coaled the identical ice creams with different amounts of flour dough as shown belaw.

Then they were deap fried using the same amount of heat for ten saconds until
golden brown.

flour dowgh alr bubbles
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Emma observed thal one of the ice creams malted afler lan saconds.
Which one of the following is comect?

A) Ice cream that melted | Reason

A The flour dough is a good conductor of heat.
B) |ice cream that Reason
melted
A There was less air in the dough. Thus, the ice cream gained
heat faster.

C) Ice cream that melted | Reason

B The air in the air bubbles is a poor conductor of heat.

D) Ice cream that melted | Reason

B The flour dough has more air bubbles round the ice cream.
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Question 26 of 64 Primary 6 Science (Prelim) 2 pts

Alison prepared the set-up shown below using the samea amount of wax to
hold the identical thumblacks on the matarials A and B respeciively. Tha
materials are of identical length. The thumbtacks were placed af eqgual
distance away from the heat source. Alison obsarved the thumbtack on
material B drop off first.

Material A

Material B

heat source

Mext, she wrapped a piece of paper round materals A and B as shown below and put
over a heat source. She observed the piece of paper after three minutes.

Mataral A

Vi

Material B

Which of the following provides the correct observabion and explanation?

A)

B)

C)

D)

Observation Explanation

The paper on material A would Material A conducted heat to the paper more
burn. quickly.

Observation Explanation

The paper on material A would [ Material A conducted heat away from the paper
burn. more slowly.

Observation Explanation

The paper on material B would Material B conducted heat to the paper more
burn. quickly.

Observation Explanation
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The paper on material B would | Material B conducted heat away from the paper
burn. more slowly.

Question 27 of 64 Primary 6 Science (Prelim) 2 pts

Linda designed a model as shown below.

©

woodan
container

The cup is fixed onto a wooden rod which can move al pivol A.
Water from a tank is dripped Into the cup. When the cup is filled up with water, it
moved down, causing the other end of the rod o hit against the wooden block.

Which of the following should Linda change fo enable her model to produce a louder

sound?

A increase the size of the hole

B increasa the size of the wooden ball

G change the wooden ball to a metal ball

D increasa the haight of the tank above the wooden conlainer
A) Aonly

B) CandD only
C) AandD only
D) A,BandConly
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Question 28 of 64 Primary 6 Science (Prelim) 2 pts
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Trina conducted an experiment using springs X and Y. She hung differanl numbers of
weights one at a ime and recorded the length of the springs. Her results were shown
in the: graph below,

Langth of spring (cm)

110 ;
ng X
100 74 spnng

g 8

"/ 1 spring Y

.l""r - -~ g_lﬂﬁ

40 f{: - c2
M=
=4
20 P
10

o Load {g)
0 10 20 30 40 50 60 70 BO 90 10D

Thia two springs, X and Y, were used to maka the two dish racks, which hold idendical
number of plates as shown balow.

'
i

|I l-li.tﬁ.lllllrl-lfd
i

Dish rack 1

Vhen Trina removed three plates from e top of dish rack 1, the metal disc moved up
from P fo Q. She also removed three plakes from dish rack 2.

Based on the graph and the information provided, which of the following statement{s)
i5 f are trus when three plates were removed from the byo dish racks?

T A The metal discs on both racks have gravitaional potential energy and elastic
potential enengy.

B The metal disc on dish rack 1 will have less gravitalional polential enengy than fhe
rriatal disc in dish rack 2.
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C  The melal discs for both racks moved up becauss the siretched springs exarted
a pulling force on the metal discs.

0 The metal dise moved up as the weight of the plates Iz greater than the alastic
spring force acting on the matal discs,

A) A and B only
B) Aand Conly
C) BandConly
D) B and D only
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Question 29 of 64 Primary 6 Science (Prelim) 0 pts

Study the chart below.

Living things

mushroom

Does it produce seeds?

rose plant

Based on the chart above, fill in the blank with the correct answers.

Question X: (0.5 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 30 of 64 Primary 6 Science (Prelim) 0.5 pts

Study the chart below.

Living things

mushroom

Does it produce seeds?

rose plant

Based on the chart above, fill in the blank with the correct answer.

Question Y:
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Question 31 of 64 Primary 6 Science (Prelim) 1 pt

Study the chart below.

Living things

mushroom

Does it produce seeds?

rose plant

How does organism Y reproduce?
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Question 32 of 64 Primary 6 Science (Prelim) 0 pts

The diagram shows the characteristics of three fruils, P, G and R, found in a
park. A tick (V) shows the presence of the characteristic of the fruils.

Characteristic of fruit
Fruit Edible juicy flesh | Wing-like structure | Pod-like structure
P R
Q v
R +
Study the chart below.

Based on the information from the chart above, state one similarity between Plant B and
Plant D. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 33 of 64
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Primary 6 Science (Prelim) 1 pt

The diagram shows the characteristics of three fruils, P, G and R, found in a
park. A tick (V) shows the presence of the characteristic of the fruils.

Characteristic of fruit
Fruit Edible juicy flesh | Wing-like structure | Pod-like structure
P R
Q v
R +
Study the chart below.

Based on the information from the table and the chart on the previous page, which plants, A,
B, C and D, in the chart best represents plants that bear fruits P, Q and R?

1.1 1  Fruit P: Plant

2.[ 1 FruitQ: Plant

3. 1 FruitR: Plant

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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The diagram shows the characteristics of three fruils, P, Q and R, found in a
park. A tick (V) shows the presence of the characteristic of the fruils.

Characteristic of fruit
Fruit Edible juicy flesh | Wing-like structure | Pod-like structure
. oyt | e
o) N
R {
Study the chart below.

The number of young plants that bear fruits P and R were found at various
distances from their parant plants as shown in the graph below.

F 1
MNumber of Bar 1 I
ung plants

e P

L D

|=I':i:. r‘"‘.

B ] oyt

] e ]

L L] )

""‘: I“I‘i“ I‘i"l r‘"‘.

't fule! s fatat

e etaty el o]

L U [ ] &+ &

l‘i“l" Iti"‘l:. I b‘i"l "‘l"‘l‘i

et P ] e

Distance from parent plant {m)

Based on the information above, which bar, 1 or 2, represents the results

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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recorded for plants of fruit P. Exi]rain your answer. [2]

Question 35 of 64 Primary 6 Science (Prelim) 0 pts

The diagram below shows a plant.

State the main function of part G. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Primary 6 Science (Prelim) 1 pt

The diagram below shows a plant.

State the part of the flower that part H developed from.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 37 of 64

Primary 6 Science (Prelim) 0 pts

The diagram below shows a plant.

Four parts of the plant are listed below. Draw arrows ( = ) in the diagram
below to show how food is transported in the plant. [1]

leaves | stem

roots s |

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 38 of 64 Primary 6 Science (Prelim) 0 pts

Ali wanted fo find out how the distance between the lamp and the test-iube of
an aquatic plant would affect the number of bubbles produced by the plant He
prepared two set-ups, A and B, as shown below.

Sel-up A Set-up B

He countad the number of bubbles produced per minute for both set-ups. His
resutts are as shown.

Set-up Number of bubbles produced per minute

A 17

B 33

Based on Ali's results, explain how the distance between the lamp and the test-tube of the
aquatic plant affect the rate of photosynthesis. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 39 of 64 Primary 6 Science (Prelim) 0 pts

Ali wanted fo find out how the distance between the lamp and the test-iube of
an aquatic plant would affect the number of bubbles produced by the plant He
prepared two set-ups, A and B, as shown below.

Sel-up A Set-up B

He countad the number of bubbles produced per minute for both set-ups. His
resutts are as shown.

Set-up Number of bubbles produced per minute

A 17

B 33

State two variables that Ali has to keep constant when conducting his experiment. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 40 of 64 Primary 6 Science (Prelim) 0 pts

Ali wanted fo find out how the distance between the lamp and the test-iube of
an aquatic plant would affect the number of bubbles produced by the plant He
prepared two set-ups, A and B, as shown below.

Sel-up A Set-up B

He countad the number of bubbles produced per minute for both set-ups. His
resutts are as shown.

Set-up Number of bubbles produced per minute

A 17

B 33

Ali recorded the initial mass of the aquatic plants before the experiment and the final mass of
the aquatic plants in each set-up after three days. Both lamps were switched on continuously

for three days. Which plant would have a greater increase in mass? Explain your answer. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 41 of 64 Primary 6 Science (Prelim) 0 pts

Two identical cups, X and Y, wers balancad on a rod. A buming candle was
placed below cup X as shown below.

v

Would the rod tilt downwards towards X, remain balanced or tilt downwards toward Y?
Explain your answer. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 49/75



11/1/121, 7:41 AM ClassMarker - Professional online testing

Question 42 of 64 Primary 6 Science (Prelim) 0 pts

Two identical cups, X and Y, wers balancad on a rod. A buming candle was
placed below cup X as shown below.

atring
X ¥
ﬁ* candle
Changes were made to the sat up by replacing cup Y with cup M, made of a
different material.
::'!} e
L string
| ————rod
string ————string

—

It was observed that the rod was balanced only when the candle was
placed under cup X. Explain the observation. [2]

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 43 of 64 Primary 6 Science (Prelim) 0.5 pts
The diagram below shows the change of slate of water.
X
solid liquid pas
Y
Name the process X.
Question 44 of 64 Primary 6 Science (Prelim) 0.5 pts

The diagram below shows the change of state of waier.

A
/"'r,—-\\. /’—_‘-\1
“-\_,// "‘\\_{/

Name the process Y.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 45 of 64 Primary 6 Science (Prelim)

The diagram below shows the change of slate of water.

0 pts

A
‘\\u//"— 1\_‘\___,‘_,.-/

¥

Michelle bought some slices of hot crispy toasted bread for her

grandfather and then walked home.

sealed plastic bag

hot crispy
toasted bread

When she reached home, she found that the slices of crispy toasted bread were damp.

Explain her observation. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 46 of 64 Primary 6 Science (Prelim)

The diagram below shows the change of slate of water.

0 pts

A
‘\\u//"— \\_—,/

¥

Michelle bought some slices of hot crispy toasted bread for her

grandfather and then walked home.

sealed plastic bag

hot crispy
toasted bread

Suggest what Michelle could have done to ensure the slices of toasted bread remained

crispy by the time she reached home. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 47 of 64 Primary 6 Science (Prelim) 0 pts

Jason made a toy train and a steel tunnel. Both had a haight of 10 cm. The
aluminium strips were attachad lo the toy train. The diagram below shows his

toy train set.
sleal tunna
aluminium aluminium
| st slri
~
bl
ﬂ“’ > 10em
0. T ) o
i
battery

Jason observed that the light bulb on the toy train only lit up when the train was moving
completely under the steel tunnel.

Explain why the bulb on the toy train only lit up when it was moving completely in the steel
tunnel. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 48 of 64

Primary 6 Science (Prelim) 0 pts

Jason made a toy frain and a steel tunnel. Both had a haight of 10 cm. The
aluminium strips ware sttached io the oy train. The diagram below shows his

toy train set.
sleal tunna
aluminium aluminium
| st &lri
bl
— wire 10cm
0. T )
i
battary

Jason replaced the steel tunnel with ancther tunnel that was made of plastic and
steal as shown in the diagram below. The height of the new tunnel was also 10

777

:>"Jﬂ-|:m

Describe what Jason would observe of the bulb while the same toy train was
moving through the new tunnel shown abova, [1l

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 49 of 64 Primary 6 Science (Prelim) 0 pts

The oy car below moves along the wooden plank.

magnet
Magnat X N s
wWinoden
car
i whigel
1 B r

A

)

10 cm 15 @m G

When magnet X is placed at position A, the wooden car moved from position A to B. Give a
reason for his observation. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 50 of 64 Primary 6 Science (Prelim)

The oy car below moves along the wooden plank.

0 pts

g "-\.‘_\5
Magnat X M 8
WD
car
| g wihieel i
1 r
magnet
pr——
| Magnet Y s N
A I
wooden car %
e
L i - = |
A 10 om B 15 em G

The wooden car was placed at position C. When magnat Y was placed
al position A, the woodan car moved from position C to A, Based on his
observations, which magnet, X or Y, & a stronger magnat, Explain your
answWer. [2]

This question is designed for extended answers that parent/ teacher will have to assign and

guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as

it was designed in such a way that it requires manual assistance.
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Question 51 of 64 Primary 6 Science (Prelim) 0 pts

Ashlynn rubbed her eraser on a piece of paper. She saw some eraser shavings on the piece
of paper.

State another observation she would made of the eraser. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 52 of 64 Primary 6 Science (Prelim) 0 pts

The diagram below shows Ashlynn doing abseiling where she was going down
a verlical wall using a rope.

Ashlynn said wearing gloves to pull on the rope while going down the wall would protect her
hand. Explain why that was so. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 53 of 64 Primary 6 Science (Prelim) 1 pt

The diagram below shows Ashlynn doing abseiling where she was going down
a verlical wall using a rope.

Name another force that was acting on Ashlynn.
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Question 54 of 64

Kehlvin had three wooden frames, S, T and U.

ClassMarker - Professional online testing

Primary 6 Science (Prelim)

1 pt

Frame S Frame T

16cm
16cm

— i
18cm

1Ecm

Frame U

1 8o

i
16cm

The set-up below shows light shining on the threa wooden frames, S5, T and U.

They were placed at different positions from tha tarch,

torch ‘i:
posilion A position B position C

SCresamn

The diagram below shows the shadow of the objecis on the screen.

Which wooden frame, S, T or U, was at position C? (1 mark)

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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Question 55 of 64 Primary 6 Science (Prelim) 0 pts
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Kelvin had three wooden frames, S, T and LU,

Frame & FramaT
16
— 16cm
—
e 16cm
10em

18am

Frame U

—
16cm

The set-up below shows light shining on Ltha three wooden frames, S, T and U.
They were placed at different positions from tha tarch,

torah

:ﬂ}é’ I

posilion A

position B

posilion C

SErear

The diagram below shows the shadow of the objects on the screen.

sCrean

Anothar piece of wood measuring 16 om x 16 cm is placed at pesition M

as shown below.

(< |

torch

https://www.classmarker.com/a/tests/test/print/?test_id=1830200
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L
position M I_I
sCraean

Will Kelvin still be able to observe the shadow that was cast on the screen earlier? Explain
your answer. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 63/75



11/1/121, 7:41 AM ClassMarker - Professional online testing

Question 56 of 64 Primary 6 Science (Prelim) 1 pt
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Hehvin had three wooden frames, S, T and LU,

Frame & FramaT
16
— 16cm
—
e 16cm
10em

18am

Frame U

—
16cm

The set-up below shows light shining on the three wooden frames, S, T and U,
They were placed at different positions from tha tarch,

torah

:ﬂ}é’ I

posilion A

position B

posilion C

SErear

The diagram below shows the shadow of the objects on the screen.

sCrean

Anothar piece of wood measuring 16 om x 16 cm is placed at pesition M

as shown below.

(< |

torch
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positon M

SChasmn

Which of the shadows will Kelvin observe if frames S, U and T are placed at positions A, B
and C respectively?

A)

B)
T
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Question 57 of 64 Primary 6 Science (Prelim) 0 pts

Martha usad the set-up below to find out the heat conductivity of materals P, &
and R. The materials were of the same length and thickness. They were placed
below a beaker of water with the same amount of heat applied fo the set-ups.

beaker of water

The heat conductivity of materials P, Q and R Is as follows.
poorest heat conductor best haat conductor

- -

Q P R [

She recorded the time taken for the water in each set up to boll in the table

below.
Materials | Yime taken for water to start boiling (minutes)
P 10
Q 10
R 10

Mariha's teacher lold her that her experiment was not a fair test as the
fime taken for water to start boiling should not be 10 minutes for all the
three containers as the heat conductivity of the materials are different.

Identify one of the constant variables which was not kept the same during the experiment
and describe what she could have done to arrive at the result shown in the table above. (2

marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 58 of 64 Primary 6 Science (Prelim) 0.5 pts

Martha used the set-up below to find out the heat conductivity of materals P, &
and R. The materials were of the same length and thickness. They were placed
below a beaker of water with the same amount of heat applied fo the set-ups.

beaker of water

The heat conductivity of materials P, Q and R Is as follows.
poorest heat conductor best haat conductor

- -

Q P R [

She recorded the time taken for the water in each set up to boll in the table

below.
Materials | Yime taken for water to start boiling (minutes)
P ' 10
Q 10
R 10

Mariha's teacher told her that her experiment was not a fair test as the
fime taken for water to start boiling should not be 10 minutes for all the
three containers as the heat conductivity of the materials are different.

What would be the temperature of water if Martha continued to heat the beakers of boiling
water for another five minutes?

Material | Temperature of water (°C)

P
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Question 59 of 64 Primary 6 Science (Prelim) 0.3 pts

Martha used the set-up below to find out the heat conductivity of materals P, &
and R. The materials were of the same length and thickness. They were placed
below a beaker of water with the same amount of heat applied fo the set-ups.

beaker of water

The heat conductivity of materials P, Q and R Is as follows.
poorest heat conductor best haat conductor

- -

Q P R [

She recorded the time taken for the water in each set up to boll in the table

below.
Materials | Yime taken for water to start boiling (minutes)
P ' 10
Q 10
R 10

Mariha's teacher told her that her experiment was not a fair test as the
fime taken for water to start boiling should not be 10 minutes for all the
three containers as the heat conductivity of the materials are different.

What would be the temperature of water if Martha continued to heat the beakers of boiling
water for another five minutes?

Materials | Temperature of water (°C)

Q
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Question 60 of 64 Primary 6 Science (Prelim) 0.2 pts

Martha used the set-up below to find out the heat conductivity of materals P, &
and R. The materials were of the same length and thickness. They were placed
below a beaker of water with the same amount of heat applied fo the set-ups.

beaker of water

The heat conductivity of materials P, Q and R Is as follows.
poorest heat conductor best haat conductor

- -

Q P R [

She recorded the time taken for the water in each set up to boll in the table

below.
Materials | Yime taken for water to start boiling (minutes)
P ' 10
Q 10
R 10

Mariha's teacher lold her that her experiment was not a fair test as the
fime taken for water to start boiling should not be 10 minutes for all the
three containers as the heat conductivity of the materials are different.

What would be the temperature of water if Martha continued to heat the beakers of boiling
water for another five minutes?

Materials | Temperature of water (°C)

R
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Question 61 of 64 Primary 6 Science (Prelim) 0 pts

Two identical containers were each filled with three litres of water at 60°C.

Each container was then placed in identical larger tanks filled with cotton wool,
A tube and a pump were attached to each container io allow a continuous flow
of water out of the container and then back again. Sat-up A has a shorar lube

than sei-up B.
L themometer
| —— ]
water at 60°C = : waler oul
cotton woal el
tube
containgr
tank
pump

waterin

water at 60

cotton wool
container
fank

'— LA ;—
Wty

water in

pump

Set-up B

Given that the set-ups were placed together int he same room, in which set-up would the
water reach room temperature first? Explain your answer clearly. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.
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Question 62 of 64 Primary 6 Science (Prelim) 0 pts
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Two identical containers were each filled with three litres of water at 60°C.
Each container was then placed in identical larger tanks filled with cotton woaol,
A tube and a pump were attached to each container to allow a continuous flow
of water out of the container and then back again. Sat-up A has a shorer tube
than sei-up B.

water at 60°C

etz
tube

cotton wool

container
tank

waterin I P

water at BOC

cotion wool
container
fank

Set-up B

it was found that the cotton wool is filled with air spaces, as shown in the
diagram bebow.

air space
thermometer
water at 60°C T
cotton wool
containar
tank
pump

water in
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Explain the purpose of placing the containers into a larger tank filled
with cotton wool, [2]

11/1/21, 7:41 AM

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

Question 63 of 64 Primary 6 Science (Prelim) 0 pts

The roller coastar is brought to the highast poinl A.

s W

B

R S g

o

4-.
VAW

A
A ——
A

AN
b

N
DS

Write down the energy conversion for the roller coaster as it moves from

Ato B. [1]
1 Wodatdnm |
T H e + =+
anengy enarngy enengy eneny

This question is designed for extended answers that parent/ teacher will have to assign and
guide child to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as
it was designed in such a way that it requires manual assistance.

https://www.classmarker.com/a/tests/test/print/?test_id=1830200 74/75



11/1/121, 7:41 AM ClassMarker - Professional online testing

Question 64 of 64 Primary 6 Science (Prelim) 2 pts

The roller coastar is brought to the highast poinl A.

Fill in the blanks with 'increase' or 'decrease’ as the roller coaster moves down from point A
to point B.

.11 Points | Potential Energy A. Decrease

AtoB

2.1 1 |Points | Kinetic Energy B. Increase

AtoB

3.1 Points | Speed
AtoB
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